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2 RATIONAL FUNCTIONS
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2 RATIONAL FUNCTIONS
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2 RATIONAL FUNCTIONS

xr—2

22—z -6
. 1 i
y-1ntersection: 3 e
Zeroes @ = 2: SEEEEEEEEEE R
Poles p:x=-2,3 LTl
and

Vertical Asymptotes x = —2,3

lim f(z)=0

Tr—r0o0
and

Horizontal Asymptotes: y = 0 SLLiilinli

- z+1
24223

y—intersection:—g Ll
Zeroes = 1 SR

Poles , p:x=-3,1
and
Vertical Asymptotes x = —3,1

lim f(x) =0

Tr—r0Q0
and

Horizontal Asymptotes: y = 0

Date: ANSWERS

Omar G. Monteagudo 55



2 RATIONAL FUNCTIONS
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2 RATIONAL FUNCTIONS
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2 RATIONAL FUNCTIONS
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2 RATIONAL FUNCTIONS
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